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OALINE - U2SHIIETNAME EAX =
g2 90,0003 *13¥* 1201 & 14,040
& 4,212
= 9,828
012 Jt=sEE XS 35,031 33,943 1,088
= 17,515
& 5,255
= 12,261
307 gI2tol ™ 35,031 33,943 1,088
= 17,515
& 5,255
o 12,261
10 Al S XA EEHE2FHIE X 35,031 33,943 1,088
O0I&Z2 ItEsEdxy
2,919,250 1B+ 1200 & 35,031
= 17,515
& 5,255
i 12,261
Z20|2A 2=20 A& 29,250 29,250 0
= 8,775
= 20,475
307 QIZ2t01 A 29,250 29,250 0
= 8,775
= 20,475
10 Al SXAIEHE2ZHIEX 29,250 29,250 0
OZEOILK 220 AEE
2,437 500211201 = 29,250
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=aak

I
x
0

¥
m
o0
=
X
=
I
=
1%
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0X
i

Ofl &F2H

MEE
Ofl &k2h

A H

8,775
20,475

CI23IE A2 (EX)

HoH W

37,018
18,509

5,553
12,956

35,850

1,168

307 212t01™

HH W

37,018
18,509

5,553
12,956

35,850

1,168

HoH W

37,018
37,018
18,509

5,553
12,956

35,850

1,168

)

e

2

Hd dHO0ISHI2AN A&

A H

24,600
7,380
17,220

24,600

307 212t01™

M H

24,600
7,380
17,220

24,600

OZECHEOIY FH0ISHIRH X

24,600,000&

EUNGE

24,600

24,600
7,380
17,220

24,600

M H

20,000
10,000
10,000

20,000

307 212t01™

A

20,000
10,000
10,000

20,000

10 Al SXAISEE

10,000,000& =23

UMY

20,000

20,000
10,000
10,000

20,000

, OISES ¥ SH(MIEN/ES - IIELAHY)

HH W

W

11,994,693
5,751,592
2,709,321
3,309,249

224,531

10,377,823

1,616,870

2EAE XE

3,377,591

2,995,151

382,440




FA X R
A 2R, 0ISES Y SH(MISX/2K - IEL0IL)
el EFAlE X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,576,443
=S 818,108
s 933,040
= 50,000
oelold 28X 63,506 63,506 0
= 31,752
== 16,877
= 15,877
307 lztol & 63,506 63,506 0
= 31,752
== 15,877
o 15,877
10 AlRISTIAEEE 22X 63,506 63,506 0
OuMuw-Hl X& 1,181,8332*6IH A 7,091
= 3,545
=S 1,773
s 1,773
Oxtg=2gdl XI& 4,539,900 * 110 2 49,939
= 24,969
S 12,485
2 12,485
OS01& oI0ZI01E XIg
2,158,666 *3H 2 6.476
= 3,238
=S 1,619
s 1,619
02l0ld ESA 361,640 0 361,640
= 180,820
=S 90,410
s 90,410
402 2I2F X201 & 361,640 0 361,640
= 180,820
= 90,410
Ea 90,410
02 QI XHZ AL E R (01X THE) 361,640 0 361,640
O=&8 L 170,820,000 »2JH 2~ 341,640
= 170,820
= 85,410
= 85,410
OJIAHHHI 10,000,000 *29H 2= 20,000
= 10,000
= 5,000
= 5,000




2A:

3 F.'_toq,o(i%_‘?’_i 2 SH(MIASI/E= - IHFL0E)
el EFAlE X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SFAE WHas K& 66,639 92,439 A25,800
301 LEtE N = 3,000 0 3,000
11 dALEEIXIE S 3,000 0 3,000
OFLE R0 SIS U3l L MK
o X 3,000,000 12 3,000
307 @12to| & 63,639 92,439 A\28,800
06 28= 6,039 6,039 0
OOIZI0IZ QHEZH THIRE Jhel
6,039,000& 12 6,039
11 AMEISXAEEES 57,600 86,400 28,800
ORIZHESAIE X0 0I21H|
28,800,000 #20H 2 57,600
SFuAE el2bl X2 2,405,671 2,355,671 50,000
= 1,177,835
& 588,918
= 588,918
= 50,000
307 21201 & 2,405,671 2,355,671 50,000
= 1,177,835
= 588,918
[Ea 588,918
= 50,000
10 Al SXAIEEHE2EHI2x 2,405,671 2,355,671 50,000
O2BINE X
197,584,250 x 1200 & 2,371,011
= 1,160,505
< 580,253
= 580,253
= 50,000
OAIRIHAZTSH WAL 124H| XI&
2,888,333 * 1204 E 34,660
= 17,330
=S 8,665
s 8,665
SRR MM K& 208,963 370,874 A161,911
= 104,481
=S 52,241
s 52,241
307 @I2t01 & 208,963 370,874 A161,911
= 104,481
= 52,241
Ea 52,241
1 AMISXAEEXS 208,963 370,874 A161,911
S WAL 11,133,000 * 1190 £ 122,463
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M 2R, 0IEES ¥ SA(MST/ES - IEL0IA)
Rl EFAIE XE
RN - I BRA(E) - HRA - BES of v A
11 HAIMHIXIZ = 1,000 1,000
082 SUHYE 29
1,000,000& %12 1,000
= 500
< 250
s 250
plRiGe ol X 18,421 18,421
== 5,908
Ea 12,513
307 gl2to| & 18,421 18,421
= 5,908
i 12,513
05 glt?(& = 8,000 8,000
O2RDIENE0IE 22 HHEFE X2
8,000,000& 12} 8,000
[ 2,000
[ias 6,000
10 MEISXAIEHE2IEHIEX 10,421 10,421
OJIE0Iel01E FHAIR 22 K&
5,210,500& ~2H 10,421
= 3,908
o 6,513
O12I01E SAEL K& 29,160 29,160
= 5,832
T 23,328
307 212t01™ 29,160 29,160
& 5,832
s 23,328
11 AR SX A 2= 29,160 29,160
O0el0lE SAKL &o12% =g
2,650,900« 1102 29,160
= 5,832
[Ea 23,328
oiglold erg 2gdl X3 58,380 58,380
S 17,514
T 40,866
307 212t01& 58,380 58,380
= 17,514
s 40,866
10 Al SXAEEHE2EHI2x 58,380 58,380
Oo0lglold etg 24| X1
5,307, 2723« 110 A& 58,380
= 17,514
Ea 40,866
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J
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2
0x

SA - BE - SRA(SIH) - AIRAY -

=
0x
Jo

Ofl &F2H

MEE
Ofl &k2h

M H

210,350
137,585
72,765

210,350

M

210,350
137,585
72,765

210,350

7,000&*160H «95!

M

H

210,350

103,950
31,185
72,765

106,400
106,400

210,350

HoH W

375,733
187,220

24,072
164,441

267,458

108,275

307 212t01&

MW

375,733
187,220

24,072
164,441

267,458

108,275

11 ARRIS XA E X

OotoIE= Al At
267,458,000& 14

O0t0I==XNEAY =228z X

108,275,000& 13

MW

375,733

267,458
187,220
24,072
56,166

108,275

267,458

108,275

Ots=X| WAHLHA

HH W

4

177,180
77,573
23,272
65,941
10,3%

154,260

22,920

101 e124d|

Mo W

I

168,540
73,253
21,976
62,917
10,3%4

145,620

22,920

O
S0
O
o i
!
EJ
=
=
]e
=
1o
Ju
bl
=
0b
40
Jd
2 2

I 3,145,000 1+ 120

A

40,140

37,740
9,353

17,819

22,321
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N -8 S2A(SIH) - HRAY - B

Ofl &F2H

MEE
Ofl &k2h

OOts=XI AKX SALEISXIAL) S2E H
=0l X 1,200,000& x1& 23]

04 JIZtN22 NS84+
OO0ts=XI WAL JIZEHZ22 X 2124H] XA
1,337,500 81200 &

A H

I

Mo W

2,806
15,187
10,3%4

2,400
128,400

128,400
63,900
19,170
45,330

127,801

59

Mo

8,640
4,320
1,296
3,024

8,640

0
b o

~

20,0003 x 18+ 1200 &

HoH W

8,640

8,640
4,320
1,296
3,024

1,440

7,200

Ots ZEXE AR

H H W

118,457
82,920
10,661
24,876

118,457

HoH W

118,457
82,920
10,661
24,876

118,457

1,184,570& %1002

HoH W

118,457

118,457
82,920
10,661
24,876

118,457

A H

281,370
36,171
245,19

321,370

240,000

M H

268,500
32,310
236,190

308,500

240,000

268,500

268,500
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OJE?IE Ot dFEXS

300,000&+67Z 120 &

OJHERE0IS MU ?/IZ=
20,0002 45| CH* 1204 2

OJtE/AS0ts Hsteds =HIs

1,500,000 «8H

OIS & 0tS Al E2 M=t
50,0003 *45 Kl CH*22]

M MO M

MO

241,200
24,120
217,080

10,800
3,240
7,560

12,000
3,600
8,400

4,500
1,350
3,150

307 212t01d

M H

12,870
3,861
9,009

12,870

11 AR S XA E X

OZXEIE SEI| AU XIS A (100A1TH)
12,870,000

M

12,870

12,870
3,861
9,009

12,870

SHRERIIE XA =]

HoH W

308,318
246,654
30,832
30,832

308,318

MW

308,318
246,654
30,832
30,832

308,318

OStRL2IEIE 2=Hl S XA (1138)
308,318,000

MW

308,318

308,318
246,654
30,832
30,832

308,318

Mo

69,310
20,793
48,517

69,310

M

69,310
20,793
48,517

69,310
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Ofl &F2H

MEE
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69,310,000

M

69,310

69,310
20,793
48,517

Mo W

1,923
1,539
114
270

1,923

Mo W

1,923
1,539
114
270

1,923

1,923,000

Mo W

1,923

1,923
1,539
114
270

1,923

12
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o
=
m
Ho
02
~
%

UMY

4

493,471
78,536
396,455
18,480

316,692

176,779

307 212t01™

M H

1

493,471
78,536
396,455
18,480

316,692

176,779

10 A2l S XIAIE
OX0otsHIE

OXY0otsHIE

OX0otsHIE

OX0otSHIE

2

OXY0tsHIE

HEAR2IHIEX
2,500,000 74 23]
OlE0ts S48l A&

7,000 x1562 250

EUNGE

SMNA Sg=E X

200,000 x14E« 1204 &

M H

4

SALAL QIAH| 28 =& X
200,0002 x14E« 1204

A

SAE20

207,000 x7E+ 12002

493,471

35,000

273,000
54,600
218,400

33,600

4,536
10,584
18,480

33,600
10,080
23,520

17,388

316,692

176,779
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SAM: Ot MET| R 0t
I 9%, 01S25 UL SH(MI=N/2S - ISU0L)
el OlsdE=sd (SH9 H2)
SA - B S (BIH) - HISAY - Ofl by e MimE=E)
= 5,216
2 2,172
ONAOISHE SRHSSH X (7H4)
6,802,000& *4=D| 27,208
& 4,104
- 23,104
OX<0otsHE R 29d] XIS
200, 000& *7IH A+ 12J1 & 16,800
OXNY0tsHIH e SSA 21AH| XI&
9, 160 7= *x3A| 221 120 & 48,475
OXH0tsSHE SALAH HE LS A&
300,000& x142H#23| 8,400
XNE0otsHEH EQRSIEAH 3,648 2,400 1,248
= 1,824
& 548
- 1,276
307 S1ZH0| & 3,648 2,400 1,248
= 1,824
& 548
= 1,276
10 AISISXIAIEHESIHIEX 3,648 2,400 1,248
OXH0tsHE ERQSFH]
912,000 1| A +42 D | 3,648
= 1,824
& 548
= 1,276
ALt AR 29 (1) 32,440 29,855 2,585
101 2124d| 32,440 29,855 2,585
04 J12tHMI22XsEs 32,440 29,855 2,585
OFUATHZ oI5el 0121
2,320,000& 18 x 120 & 27,840
OBUATHZ 22 ANEIREE
300,000&x 15 12J1 & 3,600
OBUZTHT A2 HE A0I3
500,000& 1 *23| 1,000
A2 TS 29 30,800 30,200 600
201 LEr2AH| 10,800 10,200 600
01 AtR2t2lbl 6,000 5,400 600
O/ A2 22| LB AY|
500,000 1200 6,000
02 B22ZH| 4,800 4,800 0
OFLZTAZ 22| 2229
400,000 1204 4,800
206 =8| 20,000 20,000
01 THZHI 20,000 20,000

_25_




SA: QNS
¥ 25, 0523 2 SH(MA=X/ES - HEL0Y)
el OlsdE=sd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBUZTHT Fu 2]
5,000,000& 42| 20,000
B SEHAER 28 48,000 48,000 0
= 14,400
o 33,600
307 @12t0| & 48,000 48,000 0
== 14,400
o 33,600
11 AMRISXAEEES 48,000 48,000 0
OB2I8 CEAHAES 2
48,000,000 * 104 2~ 48,000
= 14,400
= 33,600
EALel 322 X3 27,093 38,894 A11,801
= 8,128
o 18,965
307 @I2to| & 27,093 38,894 211,801
== 8,128
o 18,965
02 LB HANHEE 27,093 38,84 A11,801
OSAtttel S2¢ X2
13,546,500 *20H 2= 27,093
< 8,128
= 18,965
Ots=+=gAl& 1,320,987 1,320,987 0
= 925,202
& 118,889
= 276,8%6
301 EtE NS 1,320,987 1,320,987 0
= 925,202
< 118,889
[Ea 276,8%6
01 AR 2EHSHS(RDNEXRTHE) 1,320,987 1,320,987 0
Oots+=g X (S0)
110,082,250 * 1200 & 1,320,987
= 925,202
== 118,889
[Ea 276,8%6
XS 0tsdE Jl2=249d] X 487,320 487,320 0
= 243,660
== 73,098
o 170,562
307 212+01& 487,320 487,320 0
= 243,660
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- HyS

Ofl &F2H

MEE
Ofl &k2h

150,000 %12

HH W
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SHSsSHE el2dl XI&

HH W

55,140
27,570

8,271
19,299

17,924

37,216

307 212t01&

HoH W

55,140
27,570

8,271
19,299

55,140

10 A2 XAl

Otsl=sHE 22|

2HI 2G|

HT
A
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o
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2,297 5003 x2E* 1204

Mo W

55,140

55,140
27,570

8,271
19,299

55,140

SHNssAMg 284l X

MW

3,600
1,800

540
1,260

1,200

2,400

307 212+01™

MW

3,600
1,800

540
1,260

3,600

10 MBI XAl

OtUsgNssdH 28
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300,000 *1JH 2+ 12042

MW
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1,800

540
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A0S Ots OlsE37gHl A&
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